

ABC Bid Data

DISTRICT 3 16163H

NON-FEDERAL

PROJECT: STATE PROJECT NUMBER:	DISTRICT 3 16163H	Awarded To:	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD		
FED. PROJECT NUMBER:	NON-FEDERAL		BELMONT, NH 03220		
DATE BIDS OPEN:	March 26, 2019, 2:00				
SCOPE OF WORK:	Resurfacing various tier 2, 3, and 4 roadways in District 3.	Amount:	\$4,475,214.56	Certified by:	
COMPLETION DATE:	September 13, 2019	Award Date:			Director of Project Development
LOCATION:					

Summary of Bidders

Contractor	Bid Amount	Rank
PIKE INDUSTRIES, INC.	\$4,475,214.56	A
3 EASTGATE PARK ROAD, BELMONT NH 03220		
CONTINENTAL PAVING INC	\$4,938,282.11	В
1 CONTINENTAL DRIVE, LONDONDERRY NH 03053		

				PS&E		PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220		CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE LONDONDERRY, NH 03053	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

203.961	CLEANING DITCHLINES/SWALES	SY	100.00	\$50.00	\$5,000.00	\$20.00	\$2,000.00	\$40.00	\$4,000.00
206.1	COMMON STRUCTURE EXCAVATION	CY	73.20	\$300.00	\$21,960.00	\$325.00	\$23,790.00	\$100.00	\$7,320.00
304.301	CRUSHED GRAVEL	CY	3.40	\$80.00	\$272.00	\$500.00	\$1,700.00	\$100.00	\$340.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	7,788.00	\$18.00	\$140,184.00	\$22.00	\$171,336.00	\$22.00	\$171,336.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	669.00	\$73.35	\$49,071.15	\$80.00	\$53,520.00	\$76.00	\$50,844.00
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	1,826.00	\$83.35	\$152,197.10	\$75.00	\$136,950.00	\$76.00	\$138,776.00
403.11902	HBP - MACHINE METHOD, HIGH STRENGTH (QC/QA TIER 2)	TON	1,537.00	\$88.35	\$135,793.95	\$73.00	\$112,201.00	\$86.00	\$132,182.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	29.00	\$119.35	\$3,461.15	\$175.00	\$5,075.00	\$175.00	\$5,075.00
403.6	PAVEMENT JOINT ADHESIVE	LF	42,147.00	\$0.25	\$10,536.75	\$0.30	\$12,644.10	\$0.25	\$10,536.75
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	2,271.00	\$1.40	\$3,179.40	\$0.30	\$681.30	\$0.75	\$1,703.25
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	45,959.00	\$3.17	\$145,690.03	\$3.00	\$137,877.00	\$3.00	\$137,877.00
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	2,140.00	\$85.35	\$182,649.00	\$67.00	\$143,380.00	\$86.00	\$184,040.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	35,021.00	\$71.35	\$2,498,748.35	\$67.00	\$2,346,407.00	\$76.00	\$2,661,596.00
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	4,300.00	\$80.00	\$344,000.00	\$70.00	\$301,000.00	\$86.00	\$369,800.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	45,859.00	\$2.75	\$126,112.25	\$2.75	\$126,112.25	\$3.00	\$137,577.00
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	750.00	\$20.00	\$15,000.00	\$4.50	\$3,375.00	\$6.00	\$4,500.00
418.32	EMULSIFIED ASPHALT FOR COLD PAVEMENT	GAL	59,336.00	\$2.69	\$159,613.84	\$2.25	\$133,506.00	\$2.70	\$160,207.20
418.41	PLANT MIXED RECYCLED ASPHALT PAVEMENT	TON	8,257.00	\$30.00	\$247,710.00	\$27.00	\$222,939.00	\$29.00	\$239,453.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	56.00	\$115.00	\$6,440.00	\$100.00	\$5,600.00	\$130.00	\$7,280.00
604.0007	POLYETHYLENE LINER	EA	76.00	\$110.00	\$8,360.00	\$100.00	\$7,600.00	\$125.00	\$9,500.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	76.00	\$350.00	\$26,600.00	\$400.00	\$30,400.00	\$400.00	\$30,400.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	3.00	\$415.00	\$1,245.00	\$400.00	\$1,200.00	\$500.00	\$1,500.00
604.783	GRATES & FRAMES SPECIAL ADA COMPLIANT	EA	1.00	\$800.00	\$800.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00
608.1201	2" BITUMINOUS SIDEWALK	SY	21.90	\$50.45	\$1,104.86	\$100.00	\$2,190.00	\$20.00	\$438.00
608.2401	4" CONCRETE SIDEWALK	SY	549.80	\$50.00	\$27,490.00	\$65.00	\$35,737.00	\$50.00	\$27,490.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	86.00	\$425.00	\$36,550.00	\$450.00	\$38,700.00	\$425.00	\$36,550.00
609.01	STRAIGHT GRANITE CURB	LF	52.50	\$23.00	\$1,207.50	\$55.00	\$2,887.50	\$25.00	\$1,312.50
609.5	RESET GRANITE CURB	LF	444.20	\$10.00	\$4,442.00	\$35.00	\$15,547.00	\$15.00	\$6,663.00
609.924	SPECIAL STRAIGHT GRANITE CURB (REVEAL UP TO 12")	LF	125.20	\$61.00	\$7,637.20	\$55.00	\$6,886.00	\$35.00	\$4,382.00
	-		-	-	-		-		

					PS&E	3 EASTGA	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220		TAL PAVING INC IENTAL DRIVE ERRY, NH 03053	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	
618.7	FLAGGERS	HR	2,920.00	\$26.00	\$75,920.00	\$35.00	\$102,200.00	\$34.00	\$99,280.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00	
628.1	SAWED CONCRETE PAVEMENT	LF	589.10	\$4.50	\$2,650.95	\$10.00	\$5,891.00	\$2.00	\$1,178.20	
628.2	SAWED BITUMINOUS PAVEMENT	LF	1,179.20	\$3.00	\$3,537.60	\$5.00	\$5,896.00	\$1.50	\$1,768.80	
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	750.00	\$1.00	\$750.00	\$0.80	\$600.00	\$1.00	\$750.00	
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	400.00	\$4.00	\$1,600.00	\$3.80	\$1,520.00	\$3.00	\$1,200.00	
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	100.00	\$0.35	\$35.00	\$2.00	\$200.00	\$2.00	\$200.00	
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	338.00	\$2.70	\$912.60	\$4.00	\$1,352.00	\$4.00	\$1,352.00	
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	60.00	\$5.00	\$300.00	\$4.00	\$240.00	\$5.00	\$300.00	
692.	MOBILIZATION	U	1.00	\$100,000.00	\$100,000.00	\$63,000.00	\$63,000.00	\$75,000.00	\$75,000.00	
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	17,700.00	\$1.00	\$17,700.00	\$1.00	\$17,700.00	\$1.00	\$17,700.00	
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	11,544.82	\$1.00	\$11,544.82	\$1.00	\$11,544.82	\$1.00	\$11,544.82	
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	17,729.59	\$1.00	\$17,729.59	\$1.00	\$17,729.59	\$1.00	\$17,729.59	
			Totals:		\$4,760,836.09		\$4,475,214.56		\$4,938,282.11	
			Alt. Totals:							
			Totals:		\$4,760,836.09		\$4,475,214.56		\$4,938,282.11	



DISTRICT 3 16163H

NON-FEDERAL

				A-Bid	der	PS		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
203.961	CLEANING DITCHLINES/SWALES	SY	100.00	\$20.00	\$2,000.00	\$50.00	\$5,000.00	(\$3,000.00)
206.1	COMMON STRUCTURE EXCAVATION	CY	73.20	\$325.00	\$23,790.00	\$300.00	\$21,960.00	\$1,830.00
304.301	CRUSHED GRAVEL	CY	3.40	\$500.00	\$1,700.00	\$80.00	\$272.00	\$1,428.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	7,788.00	\$22.00	\$171,336.00	\$18.00	\$140,184.00	\$31,152.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	669.00	\$80.00	\$53,520.00	\$73.35	\$49,071.15	\$4,448.85
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	1,826.00	\$75.00	\$136,950.00	\$83.35	\$152,197.10	(\$15,247.10)
403.11902	HBP - MACHINE METHOD, HIGH STRENGTH (QC/QA TIER 2)	TON	1,537.00	\$73.00	\$112,201.00	\$88.35	\$135,793.95	(\$23,592.95)
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	29.00	\$175.00	\$5,075.00	\$119.35	\$3,461.15	\$1,613.85
403.6	PAVEMENT JOINT ADHESIVE	LF	42,147.00	\$0.30	\$12,644.10	\$0.25	\$10,536.75	\$2,107.35
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	2,271.00	\$0.30	\$681.30	\$1.40	\$3,179.40	(\$2,498.10)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	45,959.00	\$3.00	\$137,877.00	\$3.17	\$145,690.03	(\$7,813.03)
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	2,140.00	\$67.00	\$143,380.00	\$85.35	\$182,649.00	(\$39,269.00)
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	35,021.00	\$67.00	\$2,346,407.00	\$71.35	\$2,498,748.35	(\$152,341.35)
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	4,300.00	\$70.00	\$301,000.00	\$80.00	\$344,000.00	(\$43,000.00)

417.	COLD PLANING BITUMINOUS SURFACES	SY	45,859.00	\$2.75	\$126,112.25	\$2.75	\$126,112.25	\$0.00
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	750.00	\$4.50	\$3,375.00	\$20.00	\$15,000.00	(\$11,625.00)
418.32	EMULSIFIED ASPHALT FOR COLD PAVEMENT	GAL	59,336.00	\$2.25	\$133,506.00	\$2.69	\$159,613.84	(\$26,107.84)
418.41	PLANT MIXED RECYCLED ASPHALT PAVEMENT	TON	8,257.00	\$27.00	\$222,939.00	\$30.00	\$247,710.00	(\$24,771.00)
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	56.00	\$100.00	\$5,600.00	\$115.00	\$6,440.00	(\$840.00)
604.0007	POLYETHYLENE LINER	EA	76.00	\$100.00	\$7,600.00	\$110.00	\$8,360.00	(\$760.00)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	76.00	\$400.00	\$30,400.00	\$350.00	\$26,600.00	\$3,800.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	3.00	\$400.00	\$1,200.00	\$415.00	\$1,245.00	(\$45.00)
604.783	GRATES & FRAMES SPECIAL ADA COMPLIANT	EA	1.00	\$1,000.00	\$1,000.00	\$800.00	\$800.00	\$200.00
608.1201	2" BITUMINOUS SIDEWALK	SY	21.90	\$100.00	\$2,190.00	\$50.45	\$1,104.86	\$1,085.14
608.2401	4" CONCRETE SIDEWALK	SY	549.80	\$65.00	\$35,737.00	\$50.00	\$27,490.00	\$8,247.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	86.00	\$450.00	\$38,700.00	\$425.00	\$36,550.00	\$2,150.00
609.01	STRAIGHT GRANITE CURB	LF	52.50	\$55.00	\$2,887.50	\$23.00	\$1,207.50	\$1,680.00
609.5	RESET GRANITE CURB	LF	444.20	\$35.00	\$15,547.00	\$10.00	\$4,442.00	\$11,105.00
609.924	SPECIAL STRAIGHT GRANITE CURB (REVEAL UP TO 12")	LF	125.20	\$55.00	\$6,886.00	\$61.00	\$7,637.20	(\$751.20)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
618.7	FLAGGERS	HR	2,920.00	\$35.00	\$102,200.00	\$26.00	\$75,920.00	\$26,280.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$0.00
628.1	SAWED CONCRETE PAVEMENT	LF	589.10	\$10.00	\$5,891.00	\$4.50	\$2,650.95	\$3,240.05
628.2	SAWED BITUMINOUS PAVEMENT	LF	1,179.20	\$5.00	\$5,896.00	\$3.00	\$3,537.60	\$2,358.40
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE		750.00	\$0.80	\$600.00	\$1.00	\$750.00	(\$150.00)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	400.00	\$3.80	\$1,520.00	\$4.00	\$1,600.00	(\$80.00)

632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	100.00	\$2.00	\$200.00	\$0.35	\$35.00	\$165.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	338.00	\$4.00	\$1,352.00	\$2.70	\$912.60	\$439.40
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	60.00	\$4.00	\$240.00	\$5.00	\$300.00	(\$60.00)
692.	MOBILIZATION	U	1.00	\$63,000.00	\$63,000.00	\$100,000.00	\$100,000.00	(\$37,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	17,700.00	\$1.00	\$17,700.00	\$1.00	\$17,700.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	11,544.82	\$1.00	\$11,544.82	\$1.00	\$11,544.82	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	17,729.59	\$1.00	\$17,729.59	\$1.00	\$17,729.59	\$0.00

Total:

\$4,475,214.56

\$4,760,836.09 (\$285,621.53)